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BB PE-6-1%8% ( Glucose 6-phosphate, 6P G) & &ME IR & 1AP
o]

MEE 100 /48 ¥

¥ A EXMERISLE 2-3 ME BB ARSI E
MEBN

6PG (Glucose-6-phosphate, 7l % -6-BEIE,  SUFR 6-WHNR T 47 0H), 2 Wl I A AV IR TRWE S 42 0 v [ 742
I AFAE T A YRR AE Y b . RIS — 2D ST, WA U R A R 4 B0 IR
R 1oL TR A W S R PO A T RN -6- B R, DAARSERERER IO L E D B, AR AR BERRIS 12, A
TIRE-6-BE R FL AR — AN RAY, 1% PR AR R AE B NADPH [H EB& 5. MbAh, I ATRE-6- B th b 54 4k T ok
JERL B T i AR

MERIE:

- Tl 1852 77 22 0 it 0B AT fiE AL 6PG A NADPAE i 6 & i 45 BEEZ Al NADPH, NADPH 7 1-mPMS /ER T
{f WST-8 B (7, £F 450 nm il & W18

FEENMNSENAR:

BebrAd . GaAE L. AT UREWE . 96 FLBR. BBk, UK. 281K,

RFEV LA R FNECH :
PREU: WAk 60 mLx1 3, 4°CHRAE;

WRF—: Witk 12mLx1 ¥, 4°CIEAE;
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WA= B AIx1 I, -20°CHRAF;

WA= Wik 1.5mLx1 %, 4 CREOBIRIE.

6PG 12EN:

1. U BSR40, SRR BN B S 0 N, B0 )aF B, RBaEsgetE (ot - #7
BB AARF (mL) 24 500~1000: 1 LS (X 500 7 A0 BR4BAUIN A ImL $2H0KD , A IRHE (UK,
I 20% 8% 200W, H#BF 3s, [A]fE 10s, EE 30K) , 8000g, 25CELr 10min, HL_EiEHHI,

2. HA: WBHNAFE ()  REBERmML) N 1: 5~10 FEH] CEIRENZ 0.1g H24, A ImL #2
gD , 3TV A%, 8000g, 25°CES Ly 10min, HX EiERRN.

3. i G SEMARFER: EIEIE

ME LR

1. EEARX T 30min PAE, 3K E 450nm.

2« WG RIS IR AITTINN 3mL KFE MR AE I, AN SE A5 20 2 J5-20 C fRAF 5

3. LAFMBAHECH]: T2 IR AR, 1% LT BUBIE ) AR

A4 (uL) W TAER xR AR
W — 100 100
17 Wi 50
K 50
A= 10 10

4y FEAIUE

R ARAE 96 FLBCP AT R i
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AL (ul) bilpet=¢ TR
FEA 50 50
W5 TAEMR 150
Xof HR T AR 150

37°CHEEYEHEE 30min, 450nm FIEWRIEHE A MES A X, AA=A E-A ST, M08 FHE—

XF A

6PG S EITH:

1. FRESAE T IE A T84 y =3.8589x - 0.0016, R2=0.997; x N 6PG & (nmol/mL) , y AW
fH.

2. RIME CRO MHEE
6PG & & (nmol/mL) = [(AA+0.0016)+3.8589xV1]+V1x1000
=259.1x(AA+0.0016)

3. EMBE AR

6PG & (nmol/mg prot) = [(AA+0.0016)+3.8589xV1]+(V1xCpr)x1000
=259.1x(AA+0.0016) ~Cpr

4. BRI

6PG & (nmol/g #EE) = [(AA+0.0016)+3.8589xV1]+(W xV1+V2) x1000
=259.1x(AA+0.0016) =W

3. 4% G O BN M P A

6PG £ & (nmol/10* cell) = [(AA+0.0016)+3.8589xV1]+ (500xV1+V2) x1000

=0.518x(AA+0.0016)

V1: JIANRNAK R FEEAMAE, 0.05SmL; V2: JIARBURAFR, 1mL; Cpr: FEAREARKE, mgmL;
W: FEABE, g; 500: ZNEoig0iEs%, 500 /3; 1000, umol %] nmol fI#s R%L.
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